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Question 4 (25 marks)
Question 4 (a)
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Answer: (–1, 2, 5)

← Eliminate the x’s by subtracting pairs of equations.

← Eliminate the z’s.

← Substitute the value of y into equation (4) to find z.

← Substitute the values of y and z into equation (1) to find x.

Question 4 (b) (i)
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Cuts x-axis: Put f (x) = 0
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Cuts y-axis: Put x = 0
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Answers: A = (1, 2), B = (5, 2), C = (3, 0), D = (0, 3)

← Find the points where the graphs of the 2 functions intersect.

Find where the f (x) cuts the axes.
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Answer: 1 < x < 5
You can see from the graph the values of x where f (x)  <  g(x).
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